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£ x=1=y

[fO-f@O)+2=0 . f(0)=2 or f(0)=-1

£ oy=1
(i) f(0)=2
S f(x=D) =1+x -, £(2009) = 2011
(ii) f@0)=-1
s f(x=1) =1-2x ~. f(2009) =1—2x 2010 = —4019

(XZ +1)200 — ((XZ +1)2)100

= (x* +1+2x%)"°
100 . .

— ZcilOO(X4 +1)| (2X2)100—| + (2X2)100
i=1

=A+2"(x* +1-1)%

= A+B+2'%°(-1)*

#e¢ AB7 4% x* +LIEG o AR G 21% .

p,PGa. r.r
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_pir+piaq+qir+q’p+rig+rip
par
_ p(pr + pg+qr) +q(ar + pg+ pr) +r(rq+ pr + pa) —3pgr
par
=(pr+pq+qr)(p+q+r)—3pqr
par
_ 3x5-3x2
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A = 1P =Ll AB 4 2A0)
2" 72373

18B+1aC
6 3

< AB/AD=s5, AC/AE=t¢

AM = SAD+ L AE :
6 3

sI6+43=1

S+ 2t=6

AABM/AADM =, 1/a = s//AABM ® P

AACM/AAEM = t, 1/b = t/ AACM

AABM = AABP/2= AABC/3

AACM = AACP/2= AABC/6

1/a+ 1/b = 3s/c + 6t/c = (s + 2t)3/c= 18/c
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[sina-(1-tan B)+cosa-(1+tan ﬂ)]z < (sin2 o +cos? ,B)-[(l—tan B) +(1+tan ﬁ)ZJ
=2(1+tan” B) =2sec’ B

= sina-(1-tan B)+cosa-(1+tan f)<2secf -

oo sinad _ _cosa
s Ee 1-tan g 1+tan g

_1-tan g _ T )
= tanoz—lﬂanﬁ—tan(4 p
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